
Statistlcs 300
Quiz #10

ln theBe problems, you must provide tft6 symbolic formula and tfie tormula with the .elevant
vak e3 in place.

(8 points)
l. A sqrv€y of Sacramento Atea households found thal285 had a dog (one or more) and 595 did not

Use these results to prcpqlqq-gs% confid€nce inlerval for the p.oportion of all hoGeholds in the
Sacr.mento Ar€a ihat {ave a dog:
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Doe3 tha inteaval you prepared above make it roasonableto claim tlat 2 out of every 5 ho6eholds
in lhe Sacramento Area have a dog?
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(6 points)
2. The Board of supervbors for Sacramento County wants to know theproportion of all household3

In the a.ea that have a dog (one or more). lf thoy want to be 90% cqrtain that the difference
botween the proportion in their sample and th€ propordon foa the whol€ county ls not mona tnen
0.05. ho$r many households must they sampl6 at random? In 1950, it was estimated that 60% of
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Statlstlca 300
Quiz#10

(6 points)
3. Shad€ in th6 area that corresponds to tfie probability slatemoot, then

detemine tlr. probabilit {piclure is worth 2 points).
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What is the probability tnat the average for a
random sample of 18 values willbe between
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What is the 15$ p€rcentile of the populatlon of
all po33ible aampla means ftom sample3 ot
size = 10?
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(6 points)
a. Shade in the arca that co.rcsponds to the probability statement, then

detenbine the requi.ed ansurer (pictu.e ia worth 2 point3).
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